FREUEN LOBREZEOBA K (SH3F4A 1 BHRE)

[{TiEs s =] - — TR
N 5 N - s - . 8 F H e G)T
BHEOK |FRAEEBBERICRETIELELLIBHE @S] ) - Bz OO0 0 | EE]
54
EENLGEBZTOIEE. HEOBE E53:01 5
REL 1
1% JHBAE 8
ESE ) 2
B R B i
71 727 £ 71
= 85
SEOMBRIIRBREVNELT HERETIESE. E53:01] 12 %
S T0) v REL 5 é
{R{E2ET 1 @
2% EEILT R 17 !
SE=S 1
¥xB 2
k26 4
127 13.00 £ 127
EXES 245
1 BREOBE HEBET R 35
2 FEOBHE EBEILT R 2
ESE ] 26| 506} 51.79
3k BRE 22
& 22
BE 1
REME 1
354] 3623| g 354
RE 96 %
1 BEMEOEE FE 86 s
2 RELEBEMETLIRREOBE BE 20 &
REME 8
BEEXE 2
R & 16
EEH 6
48k BB RIS 1]_281] 28.76
BRWE 25
BlEs 8
BlHEt 2 i
BlfER 1 B3
B EME 1 &
272 2784 gt | 272 G
BRWEE 24 &
1 FROBHE BlE & 13 L
2 RELEBREMETIERBIEORT BlHEt 2
BlfER 1
BT E 2l 79] 8.09
5#% 3R 42
1 16
HE 3
fER 2 @
E 2 E
107 1095 ] g 107 @
2 9 !
1 REOBHE HE 1
2 RELEBEMETIEROBHE EBBE 2
& 2| 79] 8.9
64k REIEEE 1
BEEREBEKRE 1
RE 12 x
HEES 2 K
30 307 E 30 ®
P . - RE 2
7% | RELEBERETIREORE 9 020 [ E A 18l 184
& 9
1 BEOBHE S 3 #
8#k |2 BREHBRAEOBI BEREERE 1 K
3 HROBH% EBE 1 &
14 1.43 E 14]  14] 1.43
& i 977 100




